Catholic High School (Primary)
Primary 5 Mathematics 2022

Welghted Assessment 2
NAME : { } DATE .
CLASS
PARENT'S BIGNATURE : - o
Bsction A

Questions 1 10 4 carry 2 marks each. For each question, four options are given.
Make your choice (1, 2, 3 or 4) and write your choice in the bracket provided.
All diagrams are not drawn to scale. ' (8 marks)

1. What is the missing number in the box below?

12:30=[ |25

1y 5

2y 7

3 10

) 17 ( )
2. Aboard game costs $63. A toy costs 345 less than the board game. Find the

ratio of the cost of the toy to the cost of the board game in the simplest form.

{1)

(2)

(3)

{4) { )
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The shaded figure below is drawn on a square grid.

Find the area of the shaded figure.
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The solid below Is made up of 1-om cubies. What is the least number of cubes

1o be added to the solid to form a Eubéid?.

(1) 17

{2) 16

3 7

{4) { )
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Section B

Questions 5 to 10 carry 2 marks each. Show your working clearly and write your
answers in the spaces provided. For questions which require units, give your
answers in the units stated. All diagrams are not drawn io scale.

(12 marks)

8. There were 84 children in a movie theatre. The ratio of the number of
adults to the number of children in the movie theatre was 8 : 7. How
many more adults than children were there in the movie theatre?

Ans:

BP-134

Do not write
in this space

8. The figure below shows a cuboid with a square base and a height of
4 cm. The side of the square base is twice of #ts height. Find the volume
of the cuboid. ’

Ans: cm?
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7.

The perimeter of rectangle QRST is 80 cm. The length QR is 3 tin
fong as ifs breadth RS. Find the area of the shaded triangle QST.

R

Ans:
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om?

Thae ratio of the number of fish in Tank A o the number of fish in ™
was 51 B. There were 48 fewsr fish in Tank A thanin T ank B. How
fish were there in Tank A and Tank B altogether?

Ans;

Tank B
v rmany
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The age of three siblings, Alan, Belle and Car, are in the ratio of | Do notwrite

BP-136

1:3:2now. -in this space
Each statement below is either true, false or not possible to tell from the
information given. For each statement, put a (v'} in the correct column.
Not
Statement True False | possible
to tell
{a) The sum of Alan’s and Belle’s.
age is twice of Carl's age.
(b) In two years' time, when Carl is
6 years old, Alan will be 3 years
oid.
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Top view
10.  The foliowing solid Is mads up of 8 unit cubes. Draw theww and | Donotvate
the side view of the solid. i in this space

o

Front Vi .
At View Side View

Eide View Top View
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Secticn © ' Do not write

For questions 11 to 13, show your working clearly in the space provided for each in this space
question and write your answers in the spaces provided. The number of marks
available is shown in brackets [ ] at the end of each guestion or part-question.

{10 marks)

. In the figure, GRSTU is made up oftriangle QRU and square RSTU.
8T =9 cm and QT = 15 cm. Find thearea of the figure QRSTU.

R - 5

4 - ~ 1L igem-

!

)
Lot
v

Ans: 131

12. Sam bought an oven, a pan and a toaster. The ratio of the cost of the
oven to the cost of the pan to the cost of the toasteris 5 : 1 : 2. He paid
3384 for all three items. How much did he pay for the oven?

Ans:

Ans: {31
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13.

In the figure below, AFCE is a rectangle and the unshaded figure is made
up of three triangles ABD, BCD and ADE. AB = 4 om, AE = 7 cm and
BF = 5§ cm. The area of triangle ABD is 5 cm?, find the total area of the
shaded paris.

A — 4 om B f
L& - ‘I;;‘ e
7om !-«f'
g
E ' o
4]
END OF PAPER

8

More papers available at www.testpapersfree.com

BP~139

Da not wrile
in this space




BP-~140

More papers available at www.testpapersfree.com



BP~141

ANSWER KEY

YEAR 12022

LEVEL  : PRIMARYS

SCHOOL : CATHOLIC HIGH SCHOOL [Primary)
SUBJECT : MATHEMATICS

TERM 1 WA2

WA

13

@5 Je 1 e [z (o 5]

Q5 | 88+7=12 Qf | 4x2=3
8xBuf=35E
Ans 12 ' Ans 256
oy £0+8=10 : Qs 43e8=12
ICnI0=260 12xid=368
S0642=150
Ans ¢ 150 . Ans:isa |
s | ia} True Qig L
{b} False ﬁ
Qi | 9x9=81 Qiz |384:8=48
15-9=6 AZxS5=240
1
3 X6EX9 =27
27+81=108 |
Ans : 108cm? Ans : $240
Q13 i o9x7=63
‘ 2"‘;' X4 X7 =28
63-28-5=40
&ns : 40em?
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